Quiz Chapter 7:  Physical and Cognitive Development in Early Childhood (30 points)

Name___________________________________

MULTIPLE CHOICE:  Choose the alternative that best completes the statement or answers the question.

1.  Which of the following is not one of the goals of the bilingual technique?

a.      Acquiring a second language

b.      Decreasing communication in the primary language

c.      Instruction in both the primary and secondary language

d.      Continued development of the primary language

2.
Five-year-old Benjamin is shown a group of 10 coins. Six of the coins are pennies. When asked if there are more coins or more pennies, he cannot answer because of limitations in

a.
conservation.

b.
reversibility.

c.
egocentrism.

d.
classification.
3.
Which of the following is NOT a feature of preoperational thought?

a.
deferred imitation

b.
reversibility

c.
symbolic play

d.
mental images
4.
Which of the following is a nutritional recommendation aimed at children during early childhood?

a.
Allow them to eat what and when they want, as they are growing rapidly during this period.

b.
Three meals a day is sufficient for children during this period, as growth has yet to increase remarkably.

c.
Provide a well-balanced diet and plenty of healthy snacks, but limit sweets and soft drinks.

d.
Provide plenty of carbohydrates in all forms, as children at this age require the extra energy.

5.
Ellezar is under the psychological stress of starting preschool at the time his parents are separating to divorce. These stressors

a.
will have no lasting effect because he will not remember this time in his life.

b.
can have a decidedly negative effect.

c.
will have no lasting effect because he is relieved to get away from the parental bickering.

d.
can have a temporary effect – Ellezar’s brain connections will soon decrease when the stressors pass.
6.
Which of the following refers to the act of repeating target information in order to enhance learning?

a.
rehearsal

b.
recall

c.
retrieval

d.
organization

7.
Which of the following statements concerning socioeconomic class and childhood development is correct?

a.
There seems to be no difference in growth patterns based on socioeconomic status.

b.
Children from the lower economic classes tend to be somewhat larger, but less robust than those from the higher classes.

c.
Children from higher economic classes tend to be somewhat larger, but less robust than those from lower classes.

d.
Children who grow up in more favorable economic conditions are larger than those who grow up in less favorable conditions.

8.
The preoperational period is Piaget’s second stage of cognitive development and extends from about

a.
2 to 4 years.

b.
2 to 7 years.

c.
4 to 9 years.

d.
3 to 10 years.

9.
Pauline loves to draw. By analyzing her drawings, a psychologist can learn much about Pauline’s

a.
cognitive development.

b.
motor ability.

c.
personality and emotional state.

d.
All of the above may be seen in Pauline’s drawings.

10.
Children who are in the period of preoperational thought are unable to __________________ others.

a.
imitate

b.
empathize with

c.
role play with

d.
cooperate with
11.
Jason, who is 4½ years old, is unable to understand that he cannot go to his friend Tommy’s house because Tommy has the measles and that the measles are contagious. All Jason understands is that he cannot play with Tommy. This is an example of

a.
classification.

b.
artificialism.

c.
centration.

d.
negation.

12.
When 4-year-old Sally tells her mother that her doll cannot come and play because she is sick and has to stay in bed, she is exhibiting

a.
animism.

b.
artificialism.

c.
egocentrism.

d.
realism.
13.
__________________ is the most challenging aspect of retrieval.

a.
Recall

b.
Recognition

c.
Organization

d.
Rehearsal
14.
Hideki is 2½ years old. What can he accomplish linguistically?

a.
He can produce a complete sentence.

b.
He is beginning to ask questions.

c.
He uses negative statements.

d.
All of the above are correct.

15.
Which of the following developmentalists believed that children pass through different physical and mental growth phases that alternate with periods of transition?

a.
Jean Piaget

b.
Lev Vygotsky

c.
Richard Lerner

d.
Maria Montessori

16.
Montessori described three major childhood periods of development. These are

a.
absorbent mind, prepared environment , rehearsal

b.
absorbent mind, uniform growth, prepared environment

c.
prepared environment, apprehension span, uniform growth

d.
absorbent mind, prepared environment, organization

17.
What does the term “prepared environment” refer to as Montessori used it?

a.
use of age-appropriate tools to facilitate learning

b.
considerable structure in the learning environment

c.
facilitating smooth transitions between the grade levels

d.
early intervention for developmentally disabled children

18.
Montessori proposed the concept of __________________ to indicate a child’s heightened readiness to learn a set type of information at a particular time.

a.
prepared environment

b.
absorbent mind

c.
sensitive periods

d.
critical juncture

19.
One of the primary goals of the Head Start program was

a.
improving children’s health.

b.
identifying children in abusive situations.

c.
providing educational opportunities for parents.

d.
the establishment of day care centers for working mothers.
20.
Which of the following was NOT one of the six components of the Head Start program?

a.
health screening

b.
preschool education

c.
mental health service

d.
finding parental employment opportunities
21.
At what age does the typical child first begin to run, climb stairs, and jump with both feet?

a.
2 years

b.
3½ years

c.
4 years

d.
5 years
22.
The real value of programs such as Head Start lies in their ability to

a.
increase a child’s IQ scores.

b.
provide single mothers with somewhere to send their children.

c.
identify and supply what children from lower economic classes lack to achieve in school.

d.
provide economic relief for single mothers and their children.

23.
At the evening dinner table, 5-year-old Jeremy tells his family about the Disney movie he saw earlier, but his story is not told in chronological order and he taking a long time to tell every tiny detail. His family should

a.
roll their eyes and start their own conversation.

b.
correct Jeremy’s chronology of events in the movie so he learns to keep order.

c.
tell him to skip the unnecessary details so he learns to be concise.

d.
encourage him to continue in his own way.

24.
In Barb’s reading class, the children are learning about how nouns, verbs, adjectives, and prepositions go together to form sentences. Barb and her class are learning about

a.
syntax.

b.
pragmatics.

c.
semantics.

d.
phonology.

25.
Claire is 6 years old and has climbed up a tree in her backyard, but now is not certain how she is going to get back down. Her lack of planning both a way up and a way down illustrates preoperational children’s inability to

a.
engage in conservation.

b.
reverse their thinking.

c.
engage in classification.

d.
get beyond artificialism.
26.
Receptive language is to __________________ as expressive language is to __________________.

a.
infancy; early childhood

b.
early childhood; infancy

c.
early childhood; middle childhood

d.
middle childhood; early childhood
27.
Which of the following was originally conceived as part of President Johnson’s War on Poverty in the 1960s?

a.
Montessori programs

b.
Project Head Start

c.
whole language

d.
multiculturalism

28.
Sally has learned that her house pet is a “doggy.” When she sees a horse for the first time, she identifies the horse as a “doggy.” This irregularity of speech is called

a.
holophrastic speech.

b.
overregularities.

c.
overextension.

d.
telegraphic speech.
29.  In 1974, in the case of __________________, the Supreme Court ruled that children of Limited English Proficiency receive the same education all other students were receiving.

a.      Foreman v. the San Francisco School District

b.      Lau v. Nichols

c.      Brown v. the Board of Education

d.      Ovando v. Collier

30.
Because Piaget’s theory is interactive, it has helped to define ways in which children’s energy can be directed at

a.
specific cognitive outcomes.

b.
passive learning.

c.
abstract learning.

d.
none of the above.
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